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Chapter1 Gross Domestic Product

Gross domestic product (GDP) is a measure of the income and expenditures of an economy.
It is the total market value of all final goods and services produced within a country in a given
period of time. GDP or gross domestic product, is the market value of all final goods and services
-produced in a country in a given time period. GDP is a market value that goods and services are
valued at their market prices. To add apples and oranges, computefs -and popcorn,. we add the
market values so we have a total value of output in dollars. GDP is the value of the final goods
and services produced. Excluding intermediate goods and services avoids double counting. GDP
measures production within a country that domestic production. GDP measures production during
a specific time period, normally a year or a quarter of a year. Gross domestic product (GDP) is the
total value of all final goods and services produced in a country during a given time period. Itis a
summary of a nation” s ouiput.

A final good (or service), is an item bought by its final user during a specified time period. A
final good contrasts with an intermediate good (or service), which'is an item that is produced by
one firm, bought by another firm, and used as a component of a final good or service. GDP (Y) is
the sum of the following: consumption (C), investment (1), government purchases (), and net
Exports (NX). The major uses of total output include: household consumption, business
investment, government services, and net exports.

(a) Consumption (C). Consumption (C) is the spending by households on goods and services,
with the exception of purchases of new housing. Consumer goods are largest category nearly
two-thirds of U.S. total output. Three types of consumer goods are durable goods, nondurable
goods, and services. Durable goods are expected to last three years. Examples include cérs,
fumniture, and refrigerators. Purchases of durable goods are often cyclical, that is, very sensitive to
economic. trends. Nondurable goods are items bought frequently. Examples include clothes, food,
and gasoline. Over half of consumer output is services. Examples include medical care,
entertainment, utilities and other services. Consumption refers to expenditures by consumers on
final goods and services. Consumption expenditures account for about two-thirds of total
spending in U.S. economy. '

{b) Investment (I). Investment (I) is the spending on capital equipment, inventories, and
structures, including new housing. Investment goods are expenditures on (preduction, of) new
plant and equipment (capital) in a given time period, plus changes in business inventories.
Investment goods are used to replace wornout equipment and factories, thus maintaining our
production possibilities. Investment goods are used to increase and improve our stock of capital,
thereby expanding our production possibilities. Investment refers to expenditures in a given time
period on: The production of new plant and equipment (capitai).

(c) Government Purchases (G). Government purchases (G) are the spending on goods and
services by local, state, and federal governments. Government purchases (G) does not include




transfer payments because they are not made in exchange for currently produced goods or
services. Government services are only that part of federal spending used to acquire resources and
produce services is counted in GDP. Income transfers are not counted in GDP, Income transfers
are payments to individuals for which no current goods or services are exchanged. Examples
include social security, welfare, and unemployment benefits.

(d) Net Exports (NX). Net Exports (NX) equals exports minus imporis, Exports are goods
and services sold to foreign buyers. Imports are goods and services purchased from foreign
sources. Net exports is the difference between exports and imports.

GDP is the monetary measure of the total market value of all final goods and services

produced within a country in one year. Money valuation allows the summing of apples and

oranges; money acts as the common denominator. GDP includes only final products and services;
1t avoids double or multiple counting, by efiminating any intermediate goods used in production
of these final goods or services. GDP is the value of what has been produced in the economy over
the year, not what was actually sold. _ '

For an economy as a whole, income must equal expenditure because: Every transaction has a
buyer and a seller. Every dollar of spending by some buyer is a dollar of income for some seller.
The equality of income and expenditure can be illustrated with the circular-flow diagram, GDP
measures the valie of production, which also equals total expenditure on final goods and total
income. The circular flow diégram illustrates the equality of income, expenditure, and the value of
production.

The expenditure approach, one of the two approaches the Bureau of Econoritic Analysis uses
to measure GDP, is the sum of consumption expenditure, investment, govemnment purchases of
goods and services, and net exports.

The income approach measures GDP by first adding all the incomes paid to households by
firms for the use of the resources firms employ. The national income and product accounts divide
incomes into five categories: compensation of empldyees, net interest, rental income, corporate
profits, and proprietors’ income. The sum of these five income components is net domestic
income at factor cost. Two adjustments must be made to get GDP: indirect taxes minus subsidies
are added to get from factor cost to market prices—net domestic product at market prices.
Depreciation (or capital consumption) must be added to get from net domestic preduct to gross
domestic product.

A flow is a quantity per unit of time; a stock is the quantity that exists at a point in time.
Wealth, the value of all the things that people own, is a stock. Saving is the flow that changes the
stock of wealth. Capital, the plant, equipment, and inventories of raw and semifinished materials
that are used to produce other goods and services are a stock. Investment is the flow that changes
the stock of capital. Investment, the purchase of new plant, equipment, and inventories of raw and

‘semifinished materials, is the flow that adds to the capital stock. Depreciation, the decrease in the

capital stock due to wear, tear, and obsolescence, is the flow that subtracts from capital. Capital
consumption is another name for depreciation. Gross investment is the total amount spent on
purchases of new capital and on replacing depreciated capital. Net investment is gross investment
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minus depreciation. Net investment is the change in the capital stock.

Per capita GDP is total GDP divided by total population. Per capita GDP is simply an
indicator of how much output the average person would get if all output were divided evenly
among the population. Potential GDP is the quantity of real GDP produced at full employment. It
corresponds to the capacity of the economy to produce output on a sustained basis; actual GDP
fluctuates around potential GDP with the business cycle.

Nominal GDP values the production of goods and services at current prices. The first step in
calculating real GDP is to calculate nominal GDP, which is the value of goods and services
produced during a given year valued at the prices that prevailed in that same year. The old method
of calculating real GDP was to value each year’s output at the prices of a base year—the base year
prices method, Nominal GDP is measured in current prices.

Real GDP is the inflation-adjusted value of GDP. It is the vaiue of output in constant prices.
Real GDP values the production of goods and services at constant prices. Real GDP is the value of
final goods and services produced in a given year when valued at constant prices. GDP _lias
shortcomings in that either prices or an increase in physical output can cause GDP to increase.
Real GDP is the inflation-adjusted value of GDP. Real GDP is the value of output measured in
constant prices. Business cycles are measured by changes in real GDP. Real GDP is the
inflation-adjusted value of GDP—the value of output measured in constant prices.

An accurate view of the economy requires adjusting nominal 1o real GDP by using the GDP
deflator. The GDP deflator is a measure of the price level calculated as the ratio of nominal GDP
to real GDP times 100. It tells us the rise in nominal GDP that is attributable to a rise in prices

- rather than a tise in the quantities produced. The average level of prices is called the price level.
One measure of the price level is the GDP deflator, which is an average of the prices of the goods
in GDP in the current year expressed as a percentage of the base year prices. The GDP deflator is
calculated as GDP Deflator = (Nominal GDP/Real GDP) x 100. Neminal GDP is calculated using
the current year prices, so the goods and services produced are valued at current year prices, Real
GDP is chain linked using the year to year growth rates described above to a base year (currently
1996).

The new method of calculating real GDP, which is called the chain-weighted output index
method, uses the prices of two adjacent years to calculate the real GDP growth rate. This
calculation has four steps:

(a) Value last year’s production and this year’s production at last year’s prices and then
calculates the growth rate of this number from last year to this year.

{b) Value last year’s production and this year’s production at this year’s prices and then
calculate the growth rate of this number from last year to this year.

(¢) Calculate the average of the two growth rates in a) and b). This average growth rate is the
growth rate of real GDP from: last year to this year.

(d) Repeat the previous three steps for each pair of adjacent years, linking real GDP back to
the base year’s prices. )

Nominal GDP increases because production increases and because prices rise. Using the
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GDP deflator we deflate nominal GDP to get real GDP.

GDP is the best single measure of the economic weli-being of a society. GDP per person tells
us the income and expenditure of the average person in the economy. Higher GDP per person
indicates a higher standard of living. GDP is not a perfect measure of the happiness or quality of
life, however. Some things that contribute to well-being are not included in GDP: the value of
leisure, the value of a clean environment, the value of almost all activity that takes place outside
of markets, such as the value of the time parents spend with their children and the value of
volunteer work.
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A. mujtiple choice questions
l. is the measure of the market value of all final goods and services produced in a
country in a given year.

a. Gross domestic product (GDP)
b. Real GDP

c. Nominal GDP

d. Potential GDP




b

is C+1+G+X
a. Nominal GDP

b. Real GDP

¢. GDP

d. Double counting

3. is the difference between a firm's sales and its purchases of inputs to the production
process.

a. GDP

b. Value added

¢. Doubie counting

d. Nominal GDP

4. can be avoided by only including the final goods and exciuding the intermediate goods.
a. Value added

b. Double counting

¢. Nominal GDP

d. Real GDP

3. obtained when one subtracts depreciation from GDP.
a. Transfer payments

b. Net exports

c. Net domestic product

d. GNP

6. is the total output produced with inputs owned by the residents of a country.
a. Net exports

b. Net domestic product

¢. GNP

d. CPI

7. is the maximum amount the economy can produce while maintaining price stability.
a. Nominal GDP

b. Potential GDP

¢. Gross domestic product (GDP)

d. Real GDP

8. is GDP measured in actual market prices.

. Gross domestic product (GDP)

. Real GDP

. Nominal GDP

. Potential GDP

is GDP-at current prices.

. Nominal GDP

. Real GDP

. Investment
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d. Depreciaticn

10. is GDP measured in constant or invariant prices.

a. Gross domestic product (GDP)

b. Real GDP

¢. Nominal GDP

d. Potential GDP

il is nominal GDP divided by the GDP deflator,

a. GDP

b. Double counting

¢. Nominal GDP

d. Real GDP

12, measures the amount of capital that has been used in a year.
a. Depreciation

b. Transfer payments

c. Net exports

d. Net domestic product

15. is the term used to describe an addition to a nation's capital stock.
a. Investment

b. Depreciation

¢. Net Investment \

d. Net domestic product

14. 1s government payments to individuals that are not made in exchange for goods or
services supplied.

a. Investment

b. Depreciation

c. Transfer payments

d. Net exports

i5. equals exports minus imborts.

a. Monetary policy

b. Money

c. Net exports

d. Aggregate supply

16. _.._ Is the difference between imports and exports,

a, Depreciation v

b. Transfer payments

c. Net exports '

d. Net domestic product

B. true or false questions

I. The measure of the market value of all final goods anid services produced in a country during a
year is called total product,




2.GDP=C+I1+G+X.

3. Sum the annval flow of firal goods and services is a way to calculate GDP.

4. Sum all the costs of producing society's final products is a way te calculate GDP.

5. Value added is the difference between a firm's sales and its purchases of inputs to the
preduction process.

6. In order to avoid double counting, when calculating GDF, one should include only the final
goods and exclude the intermediate goods that are used in the production process.

7. Subtracting depreciation from GDP yields net domestic product.

8. Gross national product is the total output produced with inputs owned by the residents of the
country. Gross domestic product is the output produced with inputs located inside the country.

9. Potential GDP represents the maximum amount the economy can produce while maintaining
price stability.

10. Services is not a category of consumption expenditures.

11. Investment is the term used to describe an addition to a nation's capital stock.

12. Depreciation measures the amount of capital that has been used in a year.

13. Transfer payments are the total number of inputs used in production.

14. The difference between exports and imports is called net exports.

15. Exports minus imports equats net exports.

16. Nominal GDP is GDP calculated in constant or invariant prices.

17. Nominal GDP is GDP at current prices.

18. Real GDP is an index of the volume or quantity of goods and services provided.

19. Actual GDP is GDP measured in actual market prices.

20. GDP deflator serves as a measure of the overall price level in an economy.

21. Te caiculate real GDP, divide nominal GDP by the GDP deflaior.

22. Because every transaction has a buyer and a seller, the total expenditure in the economy must
equal the total income in the economy,

23. Gross Domestic Product (GDP) measures an economy’s total expenditure on newly produced
goods and services and the total income earned from the production of these goods and services.

24. GDP is the market value of all final goods and services produced within a country in a given
period of time.

25. GDP is divided among four components of expenditure: consumption, investment,
government purchases, and net exports.

26. Nominal GDP uses current prices to value the economy’s production. Real GDP uses constant
base-year prices to value the economy’s production of goods and services.

27. The GDP deflator—calculated from the ratio of nominal to real GDP—measures the level of
prices in the economy,

28. GDP is a good measure of economic well-being because people prefer higher to lower
incomes.
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29. It is not a perfect measure of well-being because some things, such as leisure time and a clean
environment, aren’t measured by GDP.




Chapter 2 Consumer Price Index

The consumer price index (CPI} is a measure of the overall cost of the goods and services
bought by a typical consumer. The Bureau of Labor Statistics reports the CP1 each month. It is
used to monitor changes in the cost of living over time. When the CP1I rises, the typical family has
to spend more dollars to maintain the same standard of living. The price level is the “average™
level of prices and is measured by using a price index. The consumer price index, or CPI,
measures the average level of the prices of goods and services consumed by an urban family. The
CPI is defined to equal 100 for the reference base period. The value of the CPI for any other
pertod is calculated by taking the ratio of the current cost of a market basket of goods to the cost
of the same market basket of goods in the reference base period and multiplying by 100.
Consumer Price Index (CPI) — a measure {(index) of changes in the average price of consumer
goods and services. '

Constructing the CPI involves three stages:

(a) Selecting the CPI basket, the set of goods and services represented in the index and the
weight on each. There are two baskets, one for all urban workers and one for wage-eamers and
clerical workers. They are based on a Consumer Expenditure Survey; the current CPI is based on
a 1993-95 survey, although the reference base period is still 1982-84.

(b) Conducting a monthly price survey, in which BLS employees check the prices of 80,000
goods and services in 30 metropolitan areas. .

(¢} Using the prices and the contents of the basket to calculate the CP1,

Constructing the CPI invalves five stages:

(a) Fix the Basket: Determine what prices are most important to the typical consumer, The
Bureau of Labor Statistics (BLS) identifies a market basket of goods and services the typical
consumer buys. The BLS conducts monthly consumer surveys to set the weights for the prices of
those goods and services.

{b) Find the Prices: Find the prices of each of the goods and services in the basket for each
point in time.

(c) Compute the Basket’s Cost: Use the data on prices to calculate the cost of the basket of
goods and services at different times.

(d) Choose a Base Year and Compute the Index: Designate one year as the base year, making
it the benchmark against which other years are compared. Compute the index by dividing the
price of the basket int one year by the price in the base year and muitiplying by 100.

(e) Compute the inflation rate: The inflation rate is the percentage change in the price index
from the preceding period.

Calculating the Consumer Price Index and the Inflation Rate: Another Example: Base Year is
2002. Basket of goods in 2002 costs $1,200. The same basket in 2004 costs $1,236. CPI =
($1,236/81 ,200) X 100 =103, Prices increased 3 percent between 2002 and 2004,
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Economists and policymakers monitor both the GDP deflator and the consumer price index
10 gauge how quickly prices are rising. There are two important differences between the indexes
that can cause them 10 diverge. The GDP detiator reflects the prices of all goods and services
produced domestically, whereas the consumer price index reflects the prices of all goods and
services bought by consumers. The consumer price index compares the price of a fixed basket of
goods and services to the price of the basket in the base year (only occasicnally does the BLS
change the basket) whereas the GDP deflator compares the price of currently produced goods and

“services to the price of the same goods and services in the base year.

The CPI may overstate the true inflation for four reasons: new goods bias, quality change
bias, commodity substitution bias, and outlet substitution bias. A Congressional Advisory
Commission estimated that the CPI overstates inflation by 1.1 percentage points a year. The bias
in the CP! distorts private contracts, increases government outlays (close to a third of government
outlays are linked to the CP1), and biases estimates of real eamings. To reduce the bias in the CPI,
the BLS will undertake consumer expenditure surveys more frequently and revise the CPI basket
every two years. The CPl is an accurate measure of the selected goods that make ip the typical
bundle, but it is nat a perfect measure of the cost of living.

The basket does not change to reflect consumer reaction to changes in relative prices.
Consumers substitute toward goods that have become relatively less expensive. The index
overstates the increase in cost of living by not considering consumer substitution. The basket does
not reflect the change in purchasing power brought on by the introduction of new products. New
products result in greater variety, which in turn makes each doliar more valuable.

Consumers need fewer dollars to maintain any given standard of living. If the quality of a
good rises from one year to the next, the value of a dollar rises, even if the price of the good stays
the same. If the quality of a good falls from one year 1o the next, the value of a dollar falls, even if
the price of the good stays the same. The BLS tries to adjust the price for constant quality, but
such differences are hard to measure. The issue is important because many government programs
use the CPI to adjust for changes in the overail level of prices. The CPI overstates inflation by
about l'percentage point per year.

The producer price index measures the cost of a basket of goods and services bought by
firms rather than consumers.
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